MTTC Chemistry Review Test 2: Stoichiometry

Name

MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) A sample of CH40 with a mass of 32.0 g contains
molecules of CH40.


A) 5.32 x 10-23
B) 1.88 x 1022
C) 6.02 x 1023
D) 1.00

E) 32.0

2) What is the empirical formula of a compound that contains 29% Na, 41% S, and 30% ° by mass?


A) NaSO
B) NaS03
C) Na2S206
D) NaS02
E) Na2S203
3) How many sulfur dioxide molecules are there in 1.80 mol of sulfur dioxide?


A) 1.08 x 1024
B) 6.02 x 1023
C) 1.80 x 1024
D) 1.08 x 1023
E) 6.02 x 1024
4) What is the mass % of carbon in dimethylsulfoxide (C2H6S0)?

A) 79.8

B) 20.6

C) 30.7

D) 7.74

E) 60.0

5) What mass in grams of hydrogen is produced by the reaction of 4.73 g of magnesium with 1.83 g of water?

Mg (s) + 2H20 (l) ( Mg(OH)2 (s) + H2 (g)

A) 0.0162

B) 0.204

C) 0.219

D) 0.0485

E) 0.102

6) There are ____


A) 25

hydrogen atoms in 25 molecules of C4H4S2.


B) 3.8 x 1024
C) 1.5 x 1025
D) 100

E) 6.0 x 1025
7) Of the following compounds, which one will form something other than carbon dioxide and water upon


combustion in air?

A)C2H6
B) CH30CH3
C) C32H4409
D)CH4
E)C5H5N

8) When the following equation is balanced, the coefficient of 02 is

C2H40 + O2 ( CO2 + H2O

A) 1

B)5

C) 2

D) 3

E)4

9) The molecular weight of the ethanol (C2H50H) is


A) 46
B) 30
C) 41

amu.

D) 34

E) 92

10) There are


A) 6

mol of carbon atoms in 4 mol of dimethylsulfoxide (C2H6S0).

B) 2

C)3

D) 8

E)4

11) When the following equation is balanced, the coefficient of C3HS03 is

C3HS03 + 02   (  CO2 + H2O

A) 1

B)5

C)3

D) 2

E)7

12) The total number of atoms in 0.111 mol of Fe(CO)3(PH3)2 is


A) 1.07 x 1024
B) 4.46 x 1021
C) 15

D) 1.67

E) 2.76 x 10-24
13) When the following equation is balanced, the coefficient of dinitrogen pentoxide is

N205 (g) + H2O (1) ~ 2 HN03 (aq)

A) synthesis

B) precipitation 

C) neutralization 

D) decomposition E) ionization

14) What is the coefficient of 02 when the following equation is completed and balanced?

C4HS02 + O2  ( ~

A) 5

B)2

C)6

D) 1

E) 3

15) A 2.25-g sample of magnesium nitrate, Mg(N03)2, contains

mol of this compound.

A) 0.0152

B) 65.8

C) 0.0261

D) 148.3

E) 38.4

16) The formula weight of silver chromate (Ag2Cr04) is

amu.

A) 159.87

B) 223.87

C) 175.87

D) 339.86

E) 331.73

17) When the following equation is balanced, the coefficient of sulfur dioxide is

PbS (s) + 02 (g) ~ PbO (s) + S02 (g)

A) 4

B)3

C)2

D) 5

E) 1

Answer Key Testname: M2. TST

MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) C 2)  E

3)  A

4) C 5) E 6) D 7) E 8)  B

9)  A

10)  D

l1) D 12) A 13) A 14) A

15) A 16) E 17) C

